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QUESTION 1

An administrator is deploying an application using Nutanix Volumes. After configuring the volume group and connecting
the guest\\'s iSCSI initiator to the volume group, they begin performance testing. The administrator learns that
performance on the virtual disk attached to the iISCSI initiator is far less than that of a virtual disk connected directly to
the VM.

Which situation is causing this condition?

A. The VM\\'s iSCSiI traffic is being routed to the data services IP subnet

B. The performance test is generating small block random 10

C. The duster data services IP address is a bottleneck, shared with other iISCSI traffic

D. Data Locality ensures that VM attached disks are always faster than iSCSI volumes

Correct Answer: C

QUESTION 2

A customer needs a DR solution designed around the following requirements: There are 8 ms of latency between Sites
A and B The administrator needs the shortest RPO/RTO possible Application consistent snapshots are required Use of
Nutanix VSS

Which Data Protection Method should be used?

A. Async

B. Metro Availability

C. Near Sync

D. Cloud Connect

Correct Answer: C

QUESTION 3

An organizations Nutanix Cluster is based on VMware vSphere. The cluster is configured to download software updates
automatically. The administration needs to verify and eventually upgrade VMware hypervisor via Prism Ul. After logging

in to Prism, the administrator receives the message shown:
No available versions for upgrade.
What is causing the current state?

A. VMware support has expired, so downloads are not available.
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B. vSphere binaries need to be manually uploaded.
C. The environment is running the latest vSphere version, so no update is required.
D. The cluster is unable to connect to release api.nutanix-ccm:8D.

Correct Answer: C

QUESTION 4

A customer recently set up Async Replication between Site A and Site B. The customer wants to conduct a planned
failover and clicks Activate on Site B. The customer then runs the following command on Site A: ncli pd

deactivate_and__destroy_vms name=.

What does this do to the customer environment?

A. VMs get deleted from Site B and the protection domain is now Active.

B. VMs are powered off on Site A and must be manually powered on at Site B.

C. VMs get deleted from Site A and the protection domain is no longer active.

D. Customer must then manually power off VMs at Site A and power them on at Site B.

Correct Answer: C

pd deactivate and destroy vms name=DataProtection
Use this command only when you are preparing to do a failback from an unplanned

failover. Executing this command will HEANSSCSRGT-IRUCCERSGTIROMERESRE= and might ca

use data loss when used incorrectly. Are you sure (y/N)?: Error: Mode change for
protection domain DataProtection fTailed with error: Canno

t deactivate protection domain DataProtection because 1 VM(s) (POC DEMO) are Pow
eared ON

QUESTION 5

A three-node cluster has a Nutanix Files instance with three FSVMs. What happens after a node failure?
A. The affected FSVM will get live-migrated to another node.

B. The affected FSVM will not be restarted on another node due to its agent VM setting.

C. The affected FSVM will not be restarted on another node due to its VM-to-VM anti-affinity settings.

D. The affected FSVM will be restarted on another node.

Correct Answer: D

Reference: https://portal.nutanix.com/page/documents/details?targetld=Files-v3_6:fil-files-high-availability-c.html
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